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WORLD GEOGRAPHY UNIT TEST

Q 1. Which of the following statements is/ Q4. Match List-I with List-II and select the
are correct ? correct answers from the codes given

1. An imaginary straight line joining the below the lists
two poles on which the earth rotates is

called Axis.

List-1 (Winds) List-1l (Countries)

2. Equator is drawn in such a way that at A. Brickfielder 1. Argentina
all points it lies exactly halfway |B-Norwester 2. Australia
between the North and South pole. C. Zonda 3. New Zealand
3. Longitude is a measure of the angular |D. Chinook 4.USA
distance of a given point from the equator. Codes
Code: A B C D
2 3 4 1
@ 1and?2 @
(b) 4 3 1 2
(b) 2and3
(c) 4 1 3 2
(¢) All are correct
@ 2 3 1 4
(d) 1and3 . . .
Q5. Which one of the following is the
Q2. Which of the following statements is/ biggest delta ?
are not correct ? (a) Deltaic plain of Brahmaputra
1. The distance from the equator to either of (b) Ganga-Brahmaputra delta
the poles is 1/2 of a circle round the earth. (¢) Hwang Ho delta
2. Earth's equator is about 40,000 (d) Delta of Euphrates
kilometres long and half of it is Q6. Match List-I with List-II and select the
passing over the land. correct answer from the codes given below
3. The Arctic circle lies at a distance of List-I (Terms)
66%°N of the equator. A. Canyon
Code: B. Permafrost
(a) Only 1 C. Taiga
(b)) 1and?2 D. Cordillera
(¢) Tand3 List-I1 (Definitions)
(d) 2and3 1. Permanently frozen sub-soil region.

2. A chain of mountain ranges which are roughly
parallel or run in one general direction.
3. A gorge of a very large size with wall

Q 3. Arrange the following constituents of
the atmosphere in descending order:

1. Oxygen like sides. It is an I-shaped valley.
2. Argon 4, A wide belt of -coniferous forests
3. COy stretches from the Atlantic to the Pacific
4. Neon across Canada.
Cod Codes
oaes A B C D
(@) 2,1,3,4 (@) 3 4 1 2
) 3,124 (b) 2 1 4 3
(C) 1) 2> 3) 4 (C) 4 2 1 3
d 1,2,4,3 d 3 1 4 2
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Q7.

List-I List-II

Match List-I (Delta’s type) with List-II
(Rivers Associated with) and select the

correct answer from the codes given below

A. Bird's foot delta | 1.0b, Vistula
B. Fan shaped arcuate | 2. Ganga, Mekong delta
C. Estuarine delta 3. Ebro
D. Cuspate delta 4. Mississippi
Codes
A B C
(@) 1 4 3 2
(b) 4 2 1 3
(c) 1 1 2 3
(d 1 3 4 2
Q8. Which of the volcanoes is not an
example of arc volcanoes ?
(@) Kuril
(b) Kamchatka
(c) Japan
(d) Canaries
Q9. Arrange the following rivers in
ascending order of their length:
1. Amazon
2. Nile
3. Yangtze Kiang
4. Mississippi Missouri
Codes
() 3,4,2and1
(b) 3,4,1and?2
(c) 4,3, 1Tand?2
(d) 4,3,2and
02
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Q 10. Consider the following statements:

1. Rub-Ul-Khali is the largest continuous
desert in the southern part of Saudi
Arabia, also known as the Empty Quarter

2. Gibson Desert lies towards the eastern
part of Australia

Codes

(a) Both 1and 2 are correct
(b) Both 1and 2 are incorrect
(¢) Only 1is correct
(d) Only 2 is correct
Q 11. Consider the following statements

1. Mt. Blanc is the highest peak of Alps

2. Elbruz is the highest mountain peak in
Europe

Codes

(a) Both 1and 2 are correct
(b) Both 1and 2 are incorrect
(¢) Only 1is correct

(d) Only 2 is correct

Q 12. Consider the following statements

1. A basin in the earth’s crust sometimes
of great extent, in which one or more
aquifers are enclosed above and below
by impermeable strata, is called
Artesian Basin

2. London is an example of Artesian Basin

Codes

(a) Both 1and 2 are correct
(b) Both 1and 2 are incorrect
(¢)  Only 1is correct

(d) Only 2 is correct



https://khanglobalstudies.com/

www.khanglobalstudies.com

Q 13. Consider the following statements and
state which of the following is/are
correct ?

1. The layer of atmosphere in which all
weather phenomena takes place is
troposphere.

2. The transition zone between troposphere
and stratosphere is stratopause.

Codes

(a) Both 1and 2
(b)  Neither 1 nor 2
(¢) Only1
(d) Only 2
Q 14. Which of the following is not a tropical
cyclone ?
(a) Hurricanes
(b) Tornadoes
(¢) Typhoons
(d)  Blizzard
Q 15. Which of the following region is known
as ‘The Big Game Country’?
(a) Mediterranean region
(b) Mid-latitude greenland
(¢) The Taiga region
(d) Tropical grassland
Q 16. The type of rainfall occurring in the
equatorial region is
(a) Convectional
()  Orographic
(¢)  Cyclonic

(d) Frontal

GEOGRAPHY

Q 17. Match List-I with List-1II and select the
correct answer from the codes given
below the lists:

A. Australia 1. Hurricanes

B. China 2. Willy-Willy

C. India 3. Typhoons

D.USA 4. Cyclones
Codes

A B C D
@ 1 2 3 4

® 2 3 4 1
@© 3 2 1 4

@ 4 3 2 1

Q 18. Strait of Hormuz lies between

(a) Black Sea and Marmara Sea
(b)  Persian Gulf and Gulf of Oman
(¢) Arabian Sea and Red Sea

(d) Red Sea and Mediterranean Sea

Q 19. Which of the following winds is known

as Roaring Forties, Furious Fifties and
Shrieking Sixties ?

(a) 'Trade winds
(b) Westerlies
(¢) Polar easterlies

(d) Dry winds

Q 20. Which one of the following statements

is not correct ?

(a) Doldrums is a zone of wind convergence

(b) Horse latitude is a zone of wind
divergence

(¢) Polar easterlies is more regular in the
north than in the south

(d) Trade winds are the most regular of all
the winds
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Q 21. Consider the following statements:
1. The major hot deserts of the world are
located on the western coasts of
continents between 15° and 30°N and S
2. In South America, the Peruvian desert
is the driest of all deserts with less
than 0.5 inches of rainfall annually
Which of the above statements is/are
correct ?
(a) Only1
(b) Only 2
(¢) Both1and?2
(d) Neither 1 nor 2
Q 22. The best developed form of
Mediterranean climate is found in
(a) California
(b) The South Western tip of Africa
(¢)  Southern Australia
(d)  Central Chile

Q23. A ‘critical temperature’ at which air
being cooled, becomes saturated with

04

water-vapour

and below which

condensation of the excess vapour
causes the formation of minute drops

of water is known as

(@)

(b)

(c)

(d)

Boiling point

Snow point

Dew point

Hydro point
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Q 24. Consider the following statements:

1. The Dead Sea is so named because
virtually nothing lives in it as it has 30 per
cent concentration of salts and minerals

2.  While a normal sea has a relatively high
percentage of sodium and chloride, the
Dead Sea is low on these minerals and
high on potassium, magnesium,
bromide and calcium minerals

Codes

(a) Both 1and 2 are correct
(b) Both 1and 2 are incorrect
(¢) Only 1is correct

(d) Only 2 is correct

Q 25. Match List-I with List-II and select the
correct answers from the codes given

below the lists:
List-1
(a) Falkland current
(b) Canaries current
(¢) Labrador current
(d) Agulhas current
List-IT
(1) Originates in Baffin Bay directs south
eastwards between Baffin island and
Greenland
(2) Flows northwards along the eastern
coast of South America upto Argentina
(3) Continuation of North Atlantic Drift
along the western coast of Iberian
Peninsula
(4) Flows southwards towards the eastern
coast of South Africa
Codes
A B C D
(@) 2 3 4 1
(b) 3 2 1 4
(c) 3 2 4 1
(d) 2 3 1 4
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Q 26. Which one of the following isnota cold Q 31. Arakan Yoma is the extension of the

current ? Himalayas located in
(a) Brazil current (a) Baluchistan
() Benguela current (b)) Myanmar
(¢) Peru current (¢) Nepal
(d) Labrador current (d) Kashmir
Q 27. Europe and Asia are separated by Q 32. Anatolian plateau of Turkey is known
. for its
(a) River Volga
()  Ural mountain and Ural river (a) Oil reserves
(¢) Jura mountain (b) Best quality coffee
(d) None of the above (¢) Long haired Angora goats

(d) Rock phosphates
Q 28. Which African country is called a
Gigantic Zoo ? Q 33. Istanbul and the Asian part of Turkey

(@) Nigeria are not separated by
a

(b) Niger (a) Hormuz Strait
(¢) Democratic Republic of Congo (b) Sea of Marmara
(d) Sudan (¢) Bosporus Strait

d) Strait of Dardanelles
Q 29. Match List-I with List-II and select the @

correct answer from the codes given . . A
] Q 34. Match List-I with List-II and select the
below the lists .
correct answer from the codes given

List-I List-ll below the lists:

A.The highest plateau 1. Antarctica List-I (Country) List-Il (Capital)
B. The second largest continent 2. Arctic A. Lithuania 1. Bishkek
C. The Ocean around the North pole 3. Australia B. Latvia 5. Vilnius
D. The continent around the south pole | 4. Africa C. Kyrgyzstan 3.Riga
E. The island continent 5. Tibet D. Turkmenistan 4. Ashkhabad
Codes Codes
A B C D
A B C D E
(a) 3 2 1 4
(@) 5 4 2 1 3
(b) 2 3 1 4
(b) 5 4 1 2 3
(c) 2 3 4 1
(c) 5 3 2 1 4
(d 3 2 4 1
(d 5 1 2 4 3
Q 30. Which of the followingis not connecting @Q 35. The Kalahari desertis situated between
Eurasia and Africa ? the rivers
(a) The Strait of Gibraltar (a) Orange and Zambezi
(b) The Suez Canal (b) Orange and Vaal
(¢) The Strait of Bab-el-Mandeb (¢) Vaal and Limpopo
(d) Mozambique Channel (d) Orange and Limpopo
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Q 36. Which one of the following rivers carries
the greatest volume of water in Africa ?

(a) Niger

(b) Nile

(¢) Zambezi

(d) Zaire

Q 37. Which of the following are a part of

Great Rift Valley ?
1. Lake Malawi
2. Red Sea
3. Lake Victoria

4. Gulf of Suez

Codes
(@) 1,2and 3
(b)) 1and 3
(¢c) 1,2and 4
(d 2,3and4

Q 38. Mt. Kilimanjaro is located in

(a) Kenya

(b) Tanzania
(¢) Burundi
(d) Somalia

Q 39. Arrange the following physical
features of France from North to South:

1. Jura

2. Alps

3. Vosges

4. Pyrenees
Codes

(@) 1,3,2and4
() 4,3,1and 2
(c) 3,1,2and 4
(d 4,1,3and?2
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Q 40. Arrange the following countries according
to their location from east to west

1. Bulgaria

2. Austria

3. Hungary

4. Netherlands
Codes

() 2,1,3and 4
() 1,3,2and 4
(¢c) 2,4,3and1
(d 4,2,17and 3

Q 41. The major rivers of Australia, River
Murray and River Darling, drain into

(a) Spencer Gulf

(b) Encounter Bay

(¢c) Port Philip Bay

(d) Bass Strait

Q 42. Gulf of Carpentaria is located in
(a)  South of Nigeria
(b) East of Guyana
(¢) North of Australia
(d)  South of Norway

Q 43. Which of the following is not correctly

matched ?
(a) China - Shanghai
(h) Canada - Montreal
(¢) Australia — Tasmania
(d) Russia - Karaganda

Q 44. Match List-I with List-II and select the
correct answer from the codes given
below the lists

List-1 (Tribes)

List-1l (Country)

A.Bushmen 1. Congo
B. Bedouins 2. Namibia
C. Pigmies 3. Saudi Arabia
D. Masais 4. Kenya
Codes
A B C D

(a) 3 2 4 1

(b) 3 2 1 4

(c) 2 3 1 4

(d 2 3 4 1
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Q 45. The river forming boundary between Q 50. Consider the following statements
Zambia and Zimbabwe is L. )
1. Kalgoorlie is an important centre for
(a) Zambezi gold mining in the world
(b) Limpopo 2. Kalgoorlie lies in the south western
(¢) Vaal Australia
d) Orange
@ 8 Codes
Q 46. Krivoi Rog and Magnitogorsk are (a) Both 1and 2 are correct
important for .
(b) Both 1and 2 are incorrect
Manganese
@ & (¢) Only 1is correct

(b) Iron Ore
(¢) Uranium (d)
(d) Bauxite

Only 2 is correct

Q 51. Consider the following statements:
47. Baku ‘The oil city’ is the capital of
Q y P 1. Lake Baikal is the deepest lake in the
(a) Armenia world
(b) Chechnya 2. Luzon island is also known as the ‘Rice
(¢) Azerbaijan bowl of Philippines’
d) Georgia
@ 3 Codes:
Q 48. Match List-I (Local names of shifting (a) Both 1and 2 are correct
cultivation) with List-II (Countries) (b)) Both 1and 2 are incorrect
and select the correct answer from the (¢)  Only 1is correct
codes given below (d) Only 2 is correct

Q 52. The river forming a boundary between

A. Chena 1. Indonesia USA and Mexico is
B. Milpa 2. Philippines (a)  Mississippi
C.Humah 3. Sri Lanka (b) Missouri
D. Caingin 4, Central America (c)  Colorado
(d) Rio Grande
Codes . .
Q 53. Consider the following statements:
A B C D . . .
W 2 3 4 ; 1. R1ver. L1mp0.p0 cuts the Tropic of
Capricorn twice
(b) 4 2 1 3
(c) 3 1 4 2 2. Orange river forms the natural
(d 3 4 1 2 boundary between South Africa and
. . Namibia
Q49. The international boundary between
North Korea and South Korea runs along Codes
(a) 25°N latitude (a) Both 1and 2 are correct
(b)  33°N latitude (b) Both 1and 2 are incorrect
(c) 38°N latitude (c) Only 1is correct
(d) 48°N latitude (d) Only 2 is correct
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Q 54. Match List-1I with List-II and select the
correct answer from the codes given
below the lists:

1. Chile

A. Great Victoria Desert
B. Kalahari Desert 2. Mexico
C. Atacama Desert 3. Australia

D. Sonaran Desert 4. Botswana

Codes

A B C
@ 3 1 4 2

(b) 3 4 1 2

(c) 2 4 1 3

d 2 1 4 3

Q 55. Which of the following countries are

included in Baltic States ?
1. Estonia
2. Lithuania
3. Latvia

4. Belarus

Codes
() 1,2and3
() 2,3and 4
(¢) 2and3
(d 1,3and 4

Q 56. Which of the following statements is/
are correct ?

1. Shan plateau is located in Myanmar

2. The longest river in South East Asia is
Mekong

Codes

(a) Both 1and 2
(b) Neither 1 nor 2
(¢) Only1

(d) Only 2
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Q57. Which of the following capitals are
located on Danube river ?

1. Belgrade
2. Budapest
3. Sofia
4. Vienna
Codes
(@) 1and?2
(b) 2,3 and4
(c) 1,2and4

(d)  All the above

Q 58. Which of the following countries border

the Baltic Sea ?
1. Denmark
2. Germany
3. Poland
4. Norway
Codes

(@) 1and?2

(b)) 1,2and 3

(c) 2,3and4

(d 1,2and4

Q 59. The Strait of Florida separates

(a) Mexico and Cuba
(b) USA and Cuba

(¢) Cuba and Belize

(d) Cuba and Bahamas

Q 60. Match List-I with List-1II and select the
correct answer from the codes given
below the lists:

List-l (Rivers)

List-ll (Countries)

A.Ebro 1. Germany
B. Rhone 2. Ttaly
C. Elbe 3. Spain
D. Tiber 4. France
Codes
A B C D

(a) 3 2 1 4

(b) 1 2 3 4

(c) 3 4 1 2

(d 1 4 3 2
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Q 61. The Indian Standard Time is ahead of Q 65. Which of the following countries is NOT

Greenwich Mean Time by hours located on the bank of the Black Sea ?
(a) Two and a half (a) Syria
b) Turke
(b) Three and a half ® y
(¢) Georgia
(¢) Four and a half (d) Bulgaria
(d) Five and a half Q 66. Whichone of the followingis alandlocked
country ?
Q 62. The equator does NOT pass through (a) Bulgaria
which of the following Countries ? (b) Hungary
Romania
1. Gabon ;Z Ukraine
2.  Somalia
3. Equatorial Guinea Q 67. Kara Kum desert is situated in which
4., Rawanda of the following countries ?
Select the correct answer using the codes (a) Kazakhstan
given below. (b) Tajikistan
Kirgistan
Codes: © 3 )
(d) Turkmenistan
(@) 1and 4
(b)) 2and4 Q 68. Famous 'Ruhr coalfield' is situated in
(c) 2and3 which of the following countries ?
(d 3and4
(a) France
Q 63. In which of the following regions of the (b) Germany
world, the production of citrus fruits is (¢) Russia
well developed ? (d)  Great Britain

(a) Monsoon regions

(b) Tropical high lands regions
(¢) Mediterranean regions

(d) Equatorial regions.

Q69. Between India and East Asia, the
navigation-time and distance can be
greatly reduced by which of the following ?

Q 64. Withreference to Mekong river, which of 1. Deepening the Malacca straits between
the following statement/s is/are correct ? Malaysia and Indonesia.

. . . 2. Opening a new canal across the Kra
1. Mekong rises in Tibetan Plateau

2. Mekong delta is situated in Southern
Cambodia.

isthmus between the Gulf of Siam and
Andaman Sea.

. Which of the statements given above is/are
Select the correct answer using the codes

correct ?
given below.
(a) 1only (@) 1only
(b) 2 only (b) 2 only
(¢) Both1and?2 (¢) Both1and?2
(d) Neither 1 nor 2 (d) Neither 1 nor 2
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Q70.

Q71.

What could be the main reason /reasons
for the formation of African and Eurasian
desert belt ?
1. It is located in the sub-tropical high
pressure cells.
2. It isunder the influence of warm ocean
currents.
Which of the statements given above is /
are correct in this context ?
(@) 1only
(b) 2 only
(¢) Both1and?2
(d) Neither 1 nor 2
The jet aircrafts fly very easily and
smoothly in the lower stratosphere. What
could be the appropriate explanation ?
1. There are no clouds or water vapour in
the lower stratosphere.
2. There are no vertical winds in the
lower stratosphere.
Which of the statements given above is/ are
correct in this context ?
(@) 1only
(b) 2 only
(¢) Both1and?2
(d) Neither 1nor 2

Q 72. Which of the following statements is/
are correct ?

10

1. Africa occupies 40% of land area of the
earth next only to Asia.

2. Africa lies in the tropical and warm
temperate zones and is most tropical of
all continents.

3. South Africa lies in the cool temperate
region but enjoys a moderate climate.

Code:

() 2and3

(b) 2 only

(¢) All are correct
(d) 1and?2
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Q 73. Which of the following statements is/are

not correct ?

1.

A narrow stretch of water connecting
two large bodies of water or seas is
called Isthmus.

2. Africa is separated from Europe by
Mediterranean Sea and from Asia by
the Suez Canal.

3. The Plateau is higher in the north and
in the west in Africa.

Code:

(a) Only1

(b) 2and3

(¢) Tand?2

(d)  All the above

Q 74. Which of the following statements is/
are correct ?

1. Mount Kilimanjaro remains snow
covered throughout the year.

2. A rift valley is bounded by wall like
steep slopes on both sides.

3. Nilerises in equatorial region and flows
northward through the rainy regions
and reaches the Mediterranean sea.

Code:

(@) 1and?2

(b) 1only

(¢) 2and 3 only
(d)  All the above

Q 75. Which of the following statements is/
are not correct ?

1. Nile river carries the greatest volume
of water among all the rivers of Africa
2. Victoria falls on the river Zaire is
higher and wider than Niagara falls of
North America.
3. About half of Africa is a desert land.
Code:
() Tand?2
(b) 2and3
(¢) Tand3
(d)  All the above
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Q 76. Which of the following statements is/ Q79.

are not correct ?

1. The northern and southern coasts of
Africa have Mediterranean type of
climate.

2. The climate is warmer in the highlands
of southern and Eastern Africa.

3. In Africa, only 20 percent of the soil is
suitable for crops.

Code:

(@) 1and?2
(h) 2and3
(¢)  All the above
(d) Only1
Q 77. Which of the following is/are not
correct?
1. There are two main ranges in the Andes of

which the western ranges are very high.

2. Lake Titicaca is the largest lake of
South America, is located in the
Bolivian Plateau.

3. Cotopaxi is the highest peak of the Andes.

Code:

(@ Only 1

(b) 1and3

(¢) 2and3

(d)  All the above

Q 78. Which of the following statements is/
are not correct ?

1. The central plains of South America
consist of the basins of Orinoco, the
Amazon and the Plata rivers.

2. The Amazon is the largest river in the
world as it discharges the greatest
volume of water.

3. Amazon rises in the Andes and falls
into the Pacific Ocean.

Code:

(a) Tand?2
(b) 2and3
(¢) Only3
(d) 1and3

GEOGRAPHY

Which of the following statements is/are

correct ?

1.

The Angel falls is the second highest
waterfall in the world.

2.  Amazon basin has an equatorial type of climate
covered with rainforests known as Selvas.

3. The Grasslands found in Orinoco basin
are locally known as Campos and in
central Brazil they are called Llanos.

Code:

(a) Only1
() Only 2
(¢) Tand?2
(d) 2and3

Q 80. Which of the following statements is/
are correct ?

1. The wet temperate forests in the lowlands
of north Argentina and west Paraguay is
locally known as Gran Chaco.

2. Atacama desert is the driest desert in
the world lies in Bolivia.

3. Central Chile has Mediterranean type
of climate.

Code:

(a) Only 1
(b)) Only 3
(¢) 1and3
(d 1,2and3
Q 81. Which of the following about North

America is not correct ?

1. It has 4 major physical divisions —
Canadian Shield, Rockies, central
plain, eastern cordillera.

2. US and Canada constitute 2/3 of North
America.

3. Niagra fall is located between Lake
Erie and Lake Ontario.

4. The great Plateau is largest intermountain
plateau of continent.

Code:

() 1and 2 only
() 1,2and4
(¢) Only 4

(d) 2,3,4only
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Q 82. Choose the correct statements of the Q85. Which of the given statements are

following.

1.

Summers are generally hot all over the
North and South in North America.

2. Atlantic and Pacific coasts of North
America where they are washed by cold
currents are colder than the interior.

3. South West US and North West Mexico
receive high rainfall due to N-E easterlies.

4. There is wider regional variation of
temperature in winter than summer in
North America.

Code:

(@) 1,2 and 4 only
(b) 3 and 4 only
(¢) 2and4only
(d)  All are correct

Q 83. Choose the correct options:

Q 84. Amount of

12

1. Finland, Norway, Sweden and Denmark
are collectively called Scandinavian
countries.

2. Belgium, Netherland, and Luxemburg
are called low land countries.

3. Latvia, Lithuania, Bosnia are called
Baltic countries.

Code:

(a) Only1,2

(b)) Only 2,3

(¢) Only?2

(d)  All the above

insolation received by

different parts of the Earth depends on

1. The angle of incidence of Sun’s rays.
2. Latitudinal position of a place.
3. Duration of the daytime.
Code:
(a) 2 only
(b) 3 only
(¢) T1and?2
(d 1,2and3

WORLD GEOGRAPHY UNIT TEST

correct ?

1.

Equatorial low pressure belt also
known as Doldrums is due to low
temperature throughout the year near
the equator.

2. Horse Latitude or Sub- Tropical high
is due to subsidence of cold air near
30°N and 30°S Latitude.

3. Due to converging air from both side
near 60°N and 60°S, there exist a Sub-
polar high Pressure belt.

4. Tropical deserts are located around
sub- tropical high pressure belts.

Code:

(@) 1,2and4
(b) 2and4
(¢) 4only

(d 1,2,3,4

Q 86. Which of the statements are NOT correct ?

1. Westerlies and Polar winds are
permanent winds that blow throughout
the year.

2. Winds blowing from subtropical high
pressure belt to sub-polar low pressure
belt are called Trade winds.

3. The Westerlies blow from sub-tropical
high pressure belts towards Equatorial
low Pressure belt.

4. The Monsoons are the winds which
reverse their direction with the change
in season.

Code:

(a) 1only

(b) 2 only

(c) 2and3
(d) 2,3and4
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Q 87. Conmnsider the following statements in

the context of Sudan type of climate.

1. Sudan type of climate is experienced in

GEOGRAPHY

the north and south of rain forests.

The vegetation is mostly grasses under
the Sudan type of Climate.

Area where Sudan type of climate
prevails, most of the rain occurs in
summer.

Which of the above statement (s) is/are

correct.
(@) 1only
() 2 and 3 only
(¢) 1,2and3
(d) None of them

Q88. An Ocean Current is a continuous,

directed movement of
earth.

seawater on

Consider the following

statements in the context of Ocean
currents.

The Ocean currents moving from the
equatorial region to polar region are
known as cold currents.

The Ocean currents generally moves to
their left in Northern hemisphere and
to right in Southern hemisphere.

Which of the above statement (s) is/are

correct ?
(@) 1only
(b) 2 only
(¢) Both1and 2

(d)

Neither 1 nor 2

Q89. Apart from being the big source of
irrigational and other facilities, the rivers
are sometimes making the borders between
the countries. Consider the following rivers
and its bordering countries.

1. The Orinoco River — Colombia and
Venezuela.
2. The Limpopo River — South Africa
and Zambia.
3. The Zambezi River — Zambia and
Zimbabwe
Which of the above is/are correctly
matched ?
(a) 1and 3 only
() 2 and 3 only
(¢) 1,2and3
(d) None of them

Q 90. The people of South America belongs to
different racial groups. Consider the

following mixed groups people in the
context of South America.

MESTIZOS are the people of mixed
Indian and European blood.

MULATTOS are the people of mixed
European and Black blood.

ZAMBOS are mixed race of black and
Indian blood.

Which of the above statement (s) is/are

correct ?
(a) 1only
(b) 1and 2 only
(¢) 2and 3only
(d 1,2and3
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Q91. Lake Victoria is regarded as one of the Q94. Which one among the following pairs is

GreatLakeslocated in African Continent. not correctly matched ?
Consider the following statements in the . .
. . 1. Sullivan ¢ Australia
context of Lake Victoria.
2. Ruhr :  France
1. Lake Victoria is the largest lake in Africa. 3. Karaganda : Kazakhstan
2. Victoria falls are located in the river Nile. 4. Donbas : Mexico
3. Lake Victoria is the source of River Zambezi. Cod
oae:
Which of the above is/are correct ?
() 1,2and4
(a) 1only (b) 2and4
() 2 and 3 only (¢) Tand3
(¢c) 1,2and3 (d)  All the above

(d) None of them
Q 95. Which one among the following pairs is

Q 92. Australia is a country comprising the
correctly matched ?

mainland of the Australian continent,

the island of Tasmania, and numerous 1. Brokenhills : Zinc, silver, lead
smaller islands. It has been divided into 2. Maracaibo : Crude oil
different states. 3. Karaganda : Coal
4. Mesabi ¢ Bauxite
Consider the following states and its capital cities.
Code:
1. Victoria —Sydney. .
2. Tasmania — Brisbane. (@) 1,2and 4
3. Queensland — Melbourne. (b) 1,2and3
4. New South Wales — Hobart. (¢) Tand3

d)  All the above
Which of the above is/are correctly matched? @

(a) 1and 2 only Q96. Match List-I (River) and List-II
(b) 3 and 4 only (Political boundary) and give answer
(c) 1,2,3and 4 using the code given below:

(d) None of them

Q93. Match the following: i =il

A. Amur 1. Cambodia and Thailand
B. Danube 2. Russia and Hungary
1. Island Continent A. Argentina C. Mekong 3. China and Russia
2. Continent of Plateaus B. Australia D. Salween 4. Romania and Bulgaria
3. Land of Wheat C.DRC 5. Myanmar and Thailand
4. Land of Forests D. Africa
Code: Code:
1 2 3 4 A B C D
(a) B D C A (a) 1 3 2 4
(b) D B A C (b) 3 1 4 5
(c) D B C A (c) 2 3 4 1
(d B D A C d 3 4 1 5

14 WORLD GEOGRAPHY UNIT TEST



https://khanglobalstudies.com/

www.khanglobalstudies.com

Q97. Consider the following statements on Q 99.

the mineral reserves of Africa:

1.

There is not much coal and Iron Ore in
Africa.

Zaire and South Africa are the main
producers of Copper, Bauxite and
Uranium.

Angola and Namibia are well known
for fishing.

The Correct statements are:

(@)
(b)
(c)
(@

1and 2
2and 3
All the above
Only 2

Q 98. Which of the following statements is/
are not correct ?

1. Volga is the most important river of
the plains of European Russia which
falls into the Black Sea.

2. West Siberian Plains are lowlands
sloping gently towards the Arctic
Ocean in the north.

3. Central Siberian Plains lies between
the Urals and river Yenisey.

Code:

(a) T1and?2
(b) Only 3
(¢) Only?2
(d) 1and3

GEOGRAPHY

Consider the following statements:

Zonda wind blows in Mexico

Karaburan is a local wind of the
the
answer from the codes given below:

Mediterranean Select correct

Codes
(a) Both 1and 2 are correct
(b) Both 1and 2 are incorrect
(¢) Only 1is correct
(d) Only 2 is correct

Q 100. Consider the following statements:

1. Anabatic wind is a local wind blowing
upvalley during the afternoon
especially in summer

2. Katabatic wind is a cold wind blowing
downhill, which frequently occurs at
night in valleys caused by the gravity
flow of dense air chilled by radiation
on the upper slopes

Codes

(a) Both 1and 2 are correct
(h) Both 1and 2 are incorrect
(¢) Only 1is correct

(d) Only 2 is correct
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